Exam for excellent student 

Physics grade 9

Question 1: Where does the magnetic field not exist?

A. Around the Earth

B. Around the charge at rest
C. Around the electric current
D. Around the magnet
Question 2:The operating principleof the alternator bases on ….
A. electromagnetic induction
B. electrification
C. electrical response
D. auto-induction
Question 3: An 220V - 1500W electric cooker operates continuously for 1.5 hours .The potential differenceis 220V. The power used in the electric cooker is:

A. 81kJ


B. 810kJ

C. 8,1kJ

D. 8100kJ
Question 4:  To transmit the power capacity 100kW from the electric wire which hasthe resistance5Ω with waste capacity 0,5kW. The potential difference between 2  electric wires is ..

A.
10kV


B. 15kV

C. 20kV

D. 5kV
Question 5:

Given 3 resistances R1 = 10Ω; R2 = R3 = 5Ω. Connect the electric circuits  [R1 is parallel with (R2 is serial R3))] then connect 6V –  potential difference power source. The amperage of the main circuit is…….
A.
1,2A


B. 0,2A

C. 0,6A

D. 0,3A
Question 6:
Give the circuit [R1 is serial  (R2 parallels R3)] , R1 = 3Ω; R2 = R3 = 2R1 andThe amperage of the main circuit is1500mA. The potential difference between 2 circuits is........

A.6V


B. 9V


C. 4,5V

D. 3V
Question 7:
A iron operates continuously in 2 hours.The potential difference is 220V.The indices of electric meter increases 2 .The power of the iron is….

A.
1000W

B. 2000W

C. 100W

D. 500W

Question 8:
Put the potential difference12V in the circuit, the electricity is used to in 30 minutes is  43,2kJ.Put the potential difference 15V in the circuit,,the electricity is used to in 1 hour is………..

A.
135kJ


B. 1350kJ

C. 1,35kJ

D. 13,5kJ
Question 9:

Put a constant resistance 6V in two side of the electric wire then the amperage through that electric wire is 50mA. The resistance of the electric wire is….  Ω  ?

Question 10: 
Give resistances R1; R2; R3; are in series and connectto constant 12V - potential difference power source.  R1 = 1,5R2 = 3R3,potential difference between 2 resistances R3 is …………V

Question 11:
Give the electric circuits .

U= 12V; R0 = 8Ω; Rb is rheostat.

a. Change the rheostat in order to the power of the rheostat is 4W. Calculate 

Rb in this case.

b. What is Rbso that the power of is Rb maximum. Calculate this power.
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Question 11:

a. R0 parallelsRb: Rtđ=R0 + Rb

- According to Ohm’s law for the circuit
           I0 = Ib = I = 
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- The power of the rheostat:
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Pb = 4W; U= 12V; R0 = 8Ω  replaces (1) :

          Rb2 - 20.Rb +64= 0    (2)

- Solve the equation (2) :Rb =4Ω orRb = 16Ω

b.  Rb =? in order to (Pb) is maximum
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With two positive real numbers:
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